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=& =2, M7 SX 2 691,607 1,081, 141 A 389,534
101 1A bl 179,590 168,064 11,526
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01 X2 Hl 147,750 149,750 A 2,000
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01 Al& bl 1,242,000 1,415,000 A 173,000
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— S8 44X (Tn¥) 1,600,000& x50& 80,000
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OLs: Bots Wi & dzd™y(4dH) 370,000
— 8717 WA 800, 000& *400S 320,000
— =& WX 200,000& 2505 50,000
Odteg Mg HY Utz s &1 74,000
- JI2E & X (9m) 1,900,000& *20S 38,000
— B2 & HH & (L=900m) 40, 000& *900m 36,000
O0NE Mg M2 Jtgs & 152,000
— 285 &xl(6m) 2,500,000& 24 60,000
— 2 2 HH & (L=2.3Km) 40,000& *2,300m 92,000
OMBMYE == =2 eSS uA 121,000
—JIZ2E nAH(2se) 3,500,000& *30S 105,000
— B2 & B & (L=900m) 40, 000& *400m 16,000
OJI2 . Bots 2122 4= (HIHH ) 85,000
-5 048 2 648 85,000
03 A& 20 b 5,000 5,000 0
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HY 2B (Mt2tel o) (I1EHIIEH) 206,955 170,785 36,170
elsl 2l 112,185 83,261 28,894
el 2l 112,185 83,261 28,894
101 @128l 112,185 83,261 28,894
03 RIAHAZ 22 = 112,185 83,261 28,894
Oosgd ti=&2aca 34,648
—Jl2= 1,443,380 « 128 1 17,321
—d03 7,454
=g 1,663,380& 42/ «1H 6,654
HEF Ot 400,000 *23| x1H 800
— =2 =4y 2,640
A 120,000 x 128 1 1,440
wWEEZ x| 100,000& x12& »1& 1,200
—Z2R*E 6,157
AZEIZ2 2 10,2602 *30A] 2t 122 x1H 3,694
5422 82,0803 «30 1 2,463
— X4 54,7208 16 1 876
— Il =l 200,000& 1 200
OJlzeers 243 50,028
—Jl=2 2,321,270& 12«18 27,856
—d03 10,966
=g 2,541,270 42«18 10,166
HE SOt 400,000 »23| x 1 800
— Scl=d44l 2,640
A 120,000 128 1 1,440
wWEE x| 100,000& x12& 1 1,200
-z 6,776
ANZ2tIZ2 S 15,6803 *20Al 2tx 128 1Y 3,764
SL2R+E 125,490 2L +12E+1H 3,012
— A Xt==g 83,6603 192 x1H 1,590
— &Y= 200,000& 1 200
O=Jt5td AN (LEBEH )2 EX23
(1) 27,479
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— 2R 3,626
N2 2R+ 8,550 *40Al 2t+1H 342
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—I=H(1g) 200
2l 94,800 87,524 7,276
23l 94,800 87,524 7,276
201 Yur2 Y| 21,360 25,604 N4,244
01 At 2t 2l 21,360 25,604 N4,244
ORNE2Y 21,360
202 odl 69,240 57,720 11,520
01 SLHOYI 69,240 57,720 11,520
OMaoi2el JI2egS 69,240
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